RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Shift \$35,243.00 from Account 50-1097 to 01-1097 for use in various line items for operating expenses of the Solid Waste Management Program in FY 2000-2001)

RESOLUTION NO. <u>01-372</u>

1	WHEREAS,	the Tohono O'odham Nation ("Nation"), in exercise of its sovereign authority, desires
2		to manage and regulate the storage, collection, recycling, transportation and
3		disposal of solid waste and certain hazardous waste on lands within the boundaries
4		of the Nation in order to protect the environment, the natural resources, the political
5		integrity and economic security of the Nation, and the health, safety and welfare of
6		its members and persons present on the Nation's lands; and
7	WHEREAS,	the Tohono O'odham Legislative Council ("Legislative Council") adopted the Solid
8		Waste Management Code and Solid Waste Management Plan ("Plan") on February 12,
9		1997, which in part, established the Solid Waste Management Program, ("SWMP");
10		and
11	WHEREAS,	SWMP has implemented the section of the Plan by creating weekly solid waste
12		collection from 700 bins serving over 100 villages, businesses and agencies and
13		hauling, on an average, 420 tons of solid waste per month to EPA permitted landfills
14		located off of the Nation's lands; and
15	WHEREAS,	SWMP has collected fees for services and recycling revenue from the sale of
16		recyclables and these funds have been deposited in a dedicated account
17		#000252452099 with the Bank of America as directed in Resolution #98-236, and said
18		resolution states that the funds are to be used for program expenditures; and
19	WHEREAS,	SWMP is finding that with both its assigned work and additional requests for
20		expanded services, that SWMP cannot complete everything it is asked to do with its
21		operating budget.
22	NOW, THER	EFORE, BEITRESOLVEDthattheTohonoO'odhamLegislativeCouncilherebyapproves
23		the use of \$35,243.00 of program revenues that are in account 50-1097 for operating
24		expenses in account 01-1097.
25		

	RESOLUTION NO. <u>01-372</u> (Shift \$35,243.00 from Account 50-1 of the Solid Waste Management Pro Page 2 of 3	.097 to 01-1097 for use in various line items for operating expenses ogram in FY 2000-2001)
1 2 3 4 5 6 7 8	of <u>JULY, 2001</u> at a meeting at w AGAINST; <u>-0-</u> NOT VOTING; and <u>J</u> Section 1 (<u>d)(2)&(3)</u> of Article VI of Tohono O'Odham Nation on Jar	ised by the Tohono O'odham Legislative Council on the 10 TH . Day hich a quorum was present with a vote of 2,001.4 FOR; 416.1 [02] ABSENT, pursuant to the powers vested in the Council by the Constitution of the Tohono O'Odham Nation, adopted by the nuary 18, 1986; and approved by the Acting Deputy Assistant ions) on March 6, 1986, pursuant to Section 16 of the Act of June
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL
10		X+ 0\ - 0/
11		Mulemail
12		Rita A. Martinez, Legislative Chairwoman
13		inth on a
14		12th day of July , 2001
15		O = O
16	ATTEST:	
17 18	Sul an	
19	Julianna Saraficio, Acting Legisla	ative Secretary
20		
21	10 day of 12h	_, 20 <u>0/</u> .
22		
23	Said Resolution was submitted for	or approval to the office of the Chairman of the Tohono O'Odham
24	Nation on the Jatin day of	tion 5 of Article VII of the Constitution and will become effective
25	pursuant to the provisions of Sec	fion 5 of Article VII of the Constitution and will become effective failure to either approve or disapprove it within 48 hours of
26 27	upon nis approvat or upon nis submittal.	lanure to entier approve or disapprove it within 40 hours or
28	Submittal.	TOHONO O'ODHAM LEGISLATIVE COUNCIL
29		
30		Xt a h 17
31		Oliv Ge Many
32		Rita A. Martinez, Legislative Chairwoman
33		
34		
35 36		
37		ta
38	X APPROVED	on the 16 day of July , 20 0
39	7	
40	[] DISAPPROVED	at <u>9:04</u> o'clock, <u>A</u> .M.
41		
42		Maria William and
43	II .	for vary
11		EDWARD D. MANUEL. Chairman
44 45		EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION

Page 3 of 3		
Returned to the Legislative Secretary on the	eday of	
July ,2001, at 10:11	Folologie of 15	
, 20 <u></u>	· O clock,m.	
heren maling to		
Hand IVI. gove for	_	
ulianna Saraficio, Acting Legislative Secre	ary	

ACTION: SHIFT \$35,243.00 FROM ACCOUNT 50-1097 TO 01-1097 FOR USE IN VARIOUS LINE ITEMS FOR OPERATING

EXPENSES OF THE SOLID WASTE MANAGEMENT PROGRAM IN FY 2000-2001

MOVED: COUNCILMAN ALEX J. RAMON

SECOND: VICE CHAIRMAN CAMILLUS LOPEZ

DATE:

JULY 10, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 248.1	KENNETH WILLIAMS (Juanita Homer)	124.05	X			
	2. DAVID GARCIA (Mary Audrey Juan)	124.05	x			
HICKIWAN 167.3	1. SHIRLEY MOLINA	83.65	х			х
	2. SANDRA ORTEGA	83.65	х			
GU VO 188.3	1. FERN SALCIDO **	94.15	Х			
	2. EMILIO LEWIS (Michael Flores)	94.15	х			
SAN LUCY 160.7	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	X			
100.7	2. GLORIA RAMIREZ **	80.35	X			
PISINEMO 174.7	1. BARBARA SALVICIO (Alex Antone)	87.35	х			
1/4./	2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
GU ACHI 230.7	1. CAMILLUS LOPEZ	115.35	х			
230.7	2. ALEX J. RAMON (Jerome Joaquin)	115.35	x			
BABOQUIVARI 317.7	1. FRANCES MIGUEL	158.85	x			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	х	·		
SAN XAVIER 184.7	1. TONY BURRELL	92.35	х			
104.7	2. DENNIS RÁMON	92.35	x			
SCHUK TOAK	1. MARY FLORES	72.25	x			X
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	X			
SELLS	1. DENNIS E. JOSE	208.05		X		
416.1	2. EVELYN JUAN	208.05		x		
SIF OIDAK	1. ISIDRO LOPEZ	92.35	х			
184.7	2. RITA A. MARTINEZ (Nicholas Jose)	92.35	X			
Te	2,417.5	2,001.4	416.1	-0-	[02]	